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COMMON STATEMENTS USED IN

RACE BASED QUESTIONS

nkSM+ vk/kfjr iz'uksa esa iz;qDr lkekU; dFku

 In a race of 1 km, A beats B by 100 metre.

1 fdeh dh nkSM+ esa A, B dks 100 ehVj ds varj ls
gjkrk gSA

AB

100 m

A B A : B

1000 m 900 m Speed 10 : 9

T T

 In a race of 1 km, A beats B by 10 sec.

1 fdeh dh nkSM+ esa A, B dks 10 lsdaM ds varj ls
gjkrk gSA

AB
×

A B A : B
1000 m 1000 m

T (T + 10) sec.
 In a race of 1 km, A can give B a start of 100

metre.

 1 fdeh dh nkSM+ esa A, B dks 100 ehVj dh 'kq:vkr
nsrk gSA

QUESTIONS BASED ON RACES AND CIRCULAR TRACK

(nkSM+ vkSj o`Ùkh; iFk ij vk/kfjr iz'u)

A B

100 m
A, B

A B

1000 m 900 m

T sec T sec

 A can give B a start of t minutes : This
statement implies that A will start t minutes
after B starts from the starting point.

A, B dks t feuV dh 'kq:vkr nsrk gS % bl dFku dk
vFkZ gS fd 'kq:vkrh fcUnq ls B ds t feuV ckn A 'kq:
djrk gSA

 In a race of 1 km, A gives B a start of 150
metre and still wins by 10 sec.

1 fdeh dh nkSM+ esa A, B dks 150 ehVj dh 'kq:vkr
nsrk gS vkSj fiQj Hkh 10 lsdaM ds varj ls thr tkrk gSA

A B

150 m

B A
A B

1000 m 850 m
T sec (T + 10) sec

 Dead Heat : A dead heat situation is when all
participants reach the finishing point at the
same instant of time.

MsM ghV ,d ,slh fLFkfr gS ftlesa lHkh izfrHkkxh var
fcUnq ij ,d gh le; ij igq¡prs gSaA

1. In 100 m race A beats B by 10 m and B
beats C by 10 m. By what distance A beat
C (in m) ?

100 ehVj dh nkSM+ esa A, B ls 10 ehVj vkxs gks tkrk
gS] B, C ls 10 ehVj vkxs gks tkrk gSA A, C ls fdruk
vkxs fudyk gS\

SSC MTS 9 August 2019 (Afternoon)

(a) 19 (b) 18

(c) 20 (d) 21

2. Two racers run at a speed of 100 m/min
and 120 m/min respectively. If the second
racer takes 10 minute less than the first
to complete the run, then how long is the
race?

nks /kod Øe'k% 100 ehVj@feuV rFkk 120 ehVj@feuV
dh pky ls nkSM+rs gSaA ;fn nwljs /kod dks igys èkkod

dh rqyuk esa nkSM+ iwjh djus esa 10 feuV de yxrs gSa]
rks nkSM+ dh yackbZ fdruh gS\

SSC CGL 3 March 2020 (Evening)

(a) 4 km (b) 6 km

(c) 1 km (d) 2 km

3. In a race of 1000 metres, A can beat by 100
metres. In a race of 400 metres, B beats C
by 40 metres, in a race of 500 metres, A
will beat C by :

1000 ehVj dh nkSM+ esa A, B dks 100 ehVj ds varj
ls gjk ldrk gSA 400 ehVj dh nkSM+ esa B, C dks 40
ehVj ds varj ls gjk ldrk gS] 500 ehVj dh nkSM+ esa
A, C dks gjk nsxk %
(a) 95 metres (b) 100 metres

(c) 45 metres (d) 60 metres

Practice Questions
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4. In 1 km race A, B and C are three
participants. A can give B a start of 50 m
and C, a start of 69 m. the start which B
can allow C is :

1 fdeh dh nkSM+ esa A, B vkSj C rhu izfrHkkxh gSaA A,

B dks 50 ehVj vkSj C dks 69 ehVj dh 'kq:vkr nsrk
gSA og 'kq:vkr] ftldh B, C dks vuqefr ns ldrk
gS%
(a) 17 m (b) 20 m

(c) 19 m (d) 18 m

5. In a 100 m race A runs at a speed of 9 km/
hr. He gives a start of 10 m to B and still
defeat him by 10 sec. Find speed of B.

100 ehVj dh nkSM+ esa A 9 fdeh@?kaVk dh xfr ls
nkSM+rk gSA og B dks 10 ehVj dh 'kq:vkr nsrk gS
vkSj fiQj Hkh mls 10 lsdaM ls gjk nsrk gSA B dh xfr
Kkr dhft,A

(a)
12

6
25

(b)
16

6
25

(c)
18

6
25

(d)
21

6
25

6. In a km race, A beats B by 30 seconds and
B beats C by 15 seconds. If A beats C by
180 m, the time taken by A to run 1 km is:

,d fdeh nkSM+ esa A, B dks 30 lsdaM vkSj B, C dks
15 lsdaM ls gjk nsrk gSA mlh nkSM+ esa ;fn A, 180
ehVj ds varj ls C dks gjkrk gS] rks A dks 1 fdeh
nkSM+us esa yxus okyk le; gS %
(a) 250 sec (b) 205 sec

(c) 200 sec (d) 210 sec

7. A and B run 1 km and A wins by 25 second.
A and C run 1 km and A wins by 275 metre.
When B and C run the same distance, B
wins by 30 sdeconds. The time taken by A
to run 1 km is :

A vkSj B, 1 fdeh nkSM+rs gSa vkSj A 25 lsdaM ls thr
tkrk gSA A vkSj C 1 fdeh nkSM+rs gSa vkSj A, 275
ehVj ls thrrk gSA tc B vkSj C leku nwjh nkSM+rs gSa]
B, 30 lsdaM ls thr tkrk gSA A dks 1 fdeh nkSM+us esa
yxus okyk le; gS %
(a) 2 min 25 sec (b) 2 min 50 sec

(c) 3 min 20 sec (d) 3 min 30 sec

8. In a race of 1 km, A give B a start of 100
metres and still wins by 20 seconds. But if
A gives B a start of 25 seconds, B wins by
50 metres. The time taken by A to run 1
km is :

1 fdeh dh nkSM+ esa A, B dks 100 ehVj dh 'kq:vkr
nsrk gS vkSj fiQj Hkh 20 lsdaM esa thr tkrk gSA ysfdu
vxj A, B dks 25 lsdaM dh 'kq:vkr nsrk gS] rks B

50 ehVj ls thr tkrk gSA A dks 1 fdeh nkSM+us esa
yxus okyk le; gS %

(a) 17 sec (b)
500

29
 sec

(c)
1200

29
 sec (d)

700

29
 sec

9. In a race of three horses, the first beat the
second by 11 metres and the third by 90
metres. If the second beat the third by 80
metres, what was the length in metres of
the racecourse?

rhu ?kksM+ksa dh nkSM+ esa] igys us nwljs dks 11 ehVj vkSj
rhljs dks 90 ehVj ls gjk;kA vxj nwljs us rhljs dks
80 ehVj dh nwjh ls gjk;k] rks jsldkslZ dh yackbZ]
ehVj esa D;k Fkh\
(a) 800 m (b) 720 m

(c) 880 m (d) 990 m

10. Two cars, A and B, participated in a race
of 1200 km. Speeds of car A and car B are
100 km/hr and 120 km/hr, respectively.
Car B gives car A a head start of T hours.
But car A has a nitro-boost, which increases
its speed by 25% for one hour. If both cars
reach the finish line at the same time, then
find T.

1200 fdeh dh nkSM+ esa nks dkjksa A vkSj B us Hkkx
fy;kA dkj A vkSj dkj B dh xfr Øe'k% 100
fdeh@?kaVk vkSj 120 fdeh@?kaVk gSA dkj B dkj A dks
T ?kaVs dh 'kq:vkr (gsM LVkVZ) nsrh gSA ysfdu dkj A
esa ukbVªks cwLV gS] tks ,d ?kaVs ds fy, mldh xfr dks
25» c<+k nsrk gSA ;fn nksuksa dkjsa ,d gh le; esa fiQfu'k
ykbu ij igq¡prh gS] rks T dk eku Kkr djsaA
(a) 2.5 hrs (b) 1.75 hrs

(c) 2 hrs (d) 1.5 hrs

11. In a race of D km, A wins over B by 0.2 D
and in the same length of race B wins over
C by 0.25 D. What should be the head-start
to C, so that A and C finish the race at the
same time?

D fdeh dh nkSM+ esa A, B ls 0.2 D ls thrrk gS vkSj
mlh nkSM+ esa B, C ls 0.25 D ls thrrk gSA C dks
fdruh c<+r feyuh pkfg, rkfd A vkSj C leku le;
esa nkSM+ iwjh dj ldsaA
(a) 0.6 D (b) 0.2 D

(c) 0.4 D (d) 0.25 D

12. In a 3 km race the speeds of A and B are
in the ratio of 6 : 5 and A wins by 10
seconds. What is the time taken by B to
finish the race. Also, to end the race in
dead heat what percent of total distance A
should give the start up to B?
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3 fdeh dh nkSM+ esa A vkSj B dh xfr 6 % 5 ds
vuqikr esa gS vkSj A, 10 lsdaM ls thr tkrk gSA nkSM+
[kRe djus ds fy, B }kjk fy;k x;k le; D;k gS\
blds vykok] lgizki.k (MsM ghV) esa nkSM+ dks lekIr
djus ds fy, A dks dqy nwjh dh fdruh izfr'kr B

dks c<+r nsuh pkfg,\
(a) 1 min, 16.67% (b) 1 min 13.33%

(c) 2 min, 20% (d) 2 min, 14.28%

13. A runs 
2

1
3

 times as fast as B. If A gives B

a start of 80 m, how far must the winning
post from the starting point be so that A
and B minght reach it at the same time?

A, B ls 
2

1
3
 xfr ls nkSM+rk gSA ;fn A, B dks 80

ehVj dh 'kq:vkr nsrk gS] rks 'kq:vkrh fcUnq ls thrus
ds fy, igq¡pus okys fcUnq dh nwjh fdruh gksuh pkfg,
rkfd A vkSj B leku le; ij igq¡p ldsaA
(a) 200 m (b) 300 m

(c) 270 m (d) 160 m

14. The ratio of speeds of X and Y is 5 : 6. If Y
allows X a start of 70 m in a 1.2 km race,
then who will win the race and by what
distance?

X vkSj Y dh xfr dk vuqikr 5 % 6 gSA ;fn Y, 1.2

fdeh dh nkSM+ esa X dks 70 ehVj dh 'kq:vkr dh
vuqefr nsrkgS] rks nkSM+ dkSu thrsxk vkSj fdruh nwjh ls\
(a) X wins the race by 30 m

(b) Y wins the race by 90 m

(c) Y wins the race by 130 m

(d) The race finishes in a dead heat

15. In a 100 m race, A runs at 6 km/hr. If A
gives B a start of 8 m and still beats him
by 9 seconds, what is the speed of B?

100 ehVj dh nkSM+ esa A 6 fdeh@?kaVk dh xfr ls
nkSM+rk gSA ;fn A, B dks 8 feuV dh 'kq:vkr nsrk gS
vkSj fiQj Hkh og 9 lsdaM ls gjk nsrk gS] rks B dh
xfr D;k gS\
(a) 4.6 km/hr (b) 4.8 km/hr

(c) 5.2 km/hr (d) 5.4 km/hr

16. In a race of 1000 m, A beats B by 150 m,
while in another race of 3000 m, C beats
D by 400 m. Speed of B is equal to that of
D. (Assume that A, B, C and D runs with
uniform speed in all the events). If A and
C participate in a race of 600 m, then
which one of the following is correct?

1000 ehVj dh nkSM+ esa] A us B dks 150 ehVj ls
tcfd 3000 ehVj dh ,d vkSj nkSM+ esa C us D dks
400 ehVj ls gjk;kA B dh xfr D ds leku gSA (eku

ysa fd A, B, C vkSj D lHkh Li¼kZvksa esa leku xfr ls
nkSM+rs gSa) ;fn A vkSj C 6000 ehVj dh nkSM+ esa Hkkx
ysrs gSa] rks fuEu esa ls dkSu&lk lgh gS\
(a) A beats C by 250 m

(b) C beats A by 250 m

(c) A beats C by 115.38 m

(d) C beats A by 115.38 m

17. In a race A, B and C take part. A beats B
by 30 m, B beats C by 20 m and A beats C
by 48 m. Which of the following is/are
correct?

(1) The length of the race is 300 m.

(2) The speed of A, B and C are in the ratio
50 : 45 : 42.

Select the correct answer using the code
given below :

,d nkSM+ esa A, B vkSj C Hkkx ysrs gSaA A, B dks 30
ehVj vkSj A, C dks 48 ehVj ls gjkrk gSA fuEufyf[kr
esa ls dkSu&lk lgh gS@gSa\
(1) nkSM+ dh yackbZ 300 ehVj gSA

(2) A, B vkSj C dh xfr 50 : 45 : 42 ds vuqikr
esa gSA

uhps fn;s x;s dksM dk mi;ksx djds lgh mÙkj pqfu;sA
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

18. In a race of 1000 m, A beats B by 100 m
or 10 seconds. If they start a race of 1000
m simultaneously from the same point and
if B gets injured after running 50 m less
than half the race length and due to which
his speed gets halved, then by how much
time will A beat B?

1000 ehVj dh nkSM+ esa A, B dks 100 ehVj ;k 10
lsdaM ls gjk nsrk gSA ;fn os ,d gh fcUnq ls ,d lkFk
1000 ehVj dh nkSM+ 'kq: djrs gSa vkSj ;fn B nkSM+
dh vk/h yackbZ ls 50 ehVj igys ?kk;y gks tkrk gS
vkSj ftlds dkj.k mldh xfr vk/h gks tkrh gS] rks
A, B dks fdrus le; esa gjk nsxk\
(a) 65 seconds (b) 60 secones

(c) 50 seconds (d) 45 seconds

19. In a 300 m race A runs at a speed of 9 km/
hr. He gives a start of 30 m to B and still
defeats him by 15 sec. What is the speed
of B?

300 ehVj dh nkSM+ esa A 9 fdeh@?kaVk dh xfr ls
nkSM+rk gSA og B dks 30 ehVj igys nkSM+us dh nwV nsrk
gS vkSj mls fiQj Hkh 15 lsdaM ls gjk nsrk gSA B dh
xfr fdruh gS\
(a) 6.3 km/hr (b) 8.1 km/hr

(c) 7.2 km/hr (d) 8 km/hr
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20. Priya can run 250 m in 15 seconds and
Payal in 20 seconds. How many meters
start can Priya give to Payal in one km race
so that the race may end in a dead-heat?

fç;k 15 lsdaM esa 250 ehVj vkSj ik;y 20 lsdaM esa
250 ehvj nkSM+ ldrh gSA fç;k ,d fdeh dh nkSM+ esa
ik;y dks fdrus ehVj rd igys nkSM+us dk volj ns
ldrh gS rkfd ;g nkSM+ cjkcjh ij lekIr gks\
(a) 100 m (b) 250 m

(c) 150 m (d) 50 m

21. A gives B, a start of 30 m or 10 seconds
and end up the race of 1 km in dead heat.
What is the ratio of speed of A and B?

A, B dks 30 ehVj ;k 10 lsdaM dh c<+r nsrk gS vkSj
lgizki.k (MsM ghV) ds lkFk 1 fdeh dh nkSM+ iwjh
djrk gSA A vkSj B dh xfr dk vuqikr D;k gS\
(a) 50 : 47 (b) 100 : 95

(c) 10 : 9 (d) 100 : 97

22. In a one km race, A gives B a start of 100
m and in a one km race, BH gives a start
of 80 m to C. In a 1 km race among all
three, by how much distance will the 2nd

worst performer win from the worst
performer?

1 fdeh dh nkSM+ esa A, B dks 100 ehVj dh c<+r nsrk
gS vkSj 1 fdeh dh nkSM+ esa B, C dks 80 ehVj dh
c<+r nsrk gSA
(a) 72 m (b) 64 m

(c) 108 m (d) 172 m

23. Ina 1 km race A wins over B by 80 m or 20
seconds. B can given a start of 100 m to C
in 1 km race. Find out that by how much
time A will win over C? Also, find the ratio
of speeds of B and C.

1 fdeh dh nkSM+ esa A, B ls 80 ehVj ;k 20 lsdaM ls
thrrk gSA 1 fdeh dh nkSM+ esa B, C dks 100 ehVj dh
c<+r ns ldrk gSA Kkr djsa fd A, C ls fdrus le;
ls thrsxk\ blds vykok B vkSj C dh xfr dk vuqikr
Kkr dhft,A
(a) 47.77 sec, 10 : 9 (b) 45 sec, 8 : 9

(c) 47.77 sec, 8 : 9 (d) 46.67 sec, 10 : 9

24. In a race of senior citizens, Mr. A can give
his friend Mr. B a start of 20 m and Mr. C
a start of 39 m in a race of 100 m. How
much start can Mr. B give Mr. C in a 100
m race?

ofj"B ukxfjdksa dh 100 ehVj dh nkSM+ esa Jheku~ A

vius nksLr A Jheku B dks 20 ehVj vkSj Jheku~ C

dks 39 ehVj dh c<+r nsrs gSaA Jheku B, Jheku~ C dks
100 ehVj dh nkSM+ esa fdrus ehVj dh c<+r nsaxs\

(a) 10 m (b) 15 m

(c) 18 m (d) 23.75 m

25. In a 6 km race B has 250 m head start and
C has 500 m head start by A, still A beats
C and B by 235 m and 350 m respectively.
How many metres start up can B give to C
so as to end up the race at the same time
with C in the race of 6 km. Also find the
ratio of speeds of A : B : C.

6 fdeh dh nkSM+ esa A }kjk B dks 250 ehVj rFkk C

dks 500 ehVj dh c<+r feyrh gS] fiQj Hkh A, B vkSj
C dks Øe'k% 235 ehVj vkSj 350 ehVj ls gjk nsrk
gSA 6 fdeh dh nkSM+ esa C ds lkFk ,d gh le; esa jsl
dks lekIr djus ds fy, B, C dks fdrus ehVj dh
c<+r ns ldrk gS\ A : B : C dh xfr dk vuqikr Hkh
Kkr dhft,A
(a) 150 m, 400 : 360 : 351

(b) 175 m, 200 : 180 : 125

(c) 150 m, 400 : 350 : 270

(d) 175 m, 200 : 170 : 251

26. A rabbit and a turtle started a race of 2 km
with speed 3 m/s and 5 m/min respectively.
After taking some rest during the race, the
rabbit again started with same speed. If
turtle reached the destination 5 min earlier
than rabbit, find the times wasted by
rabbit?

,d [kjxks'k vkSj ,d dNq, us Øe'k% 3 ehVj@lsdaM
vkSj 5 ehVj@feuV dh xfr ls 2 fdeh dh nkSM+ izkjaHk
dhA nkSM+ ds nkSjku dqN nsj vkjke djus ds ckn [kjxks'k
us iqu% mlh xfr ls pyuk izkjaHk fd;kA ;fn dNqvk
[kjxks'k ls 5 feuV igys xarO; rd igq¡p x;k] rks
[kjxks'k }kjk nkSM+ ds nkSjku vkjke esa u"V fd;k le;
Kkr djsaA

(a) 6 hours (b)
61

6
108

 hours

(c)
60

6
108

 hours (d)
2

6
3

 hours

27. In a 1000 metres race Ravi gives Vinod a
start of 40 m and beats him by 19 seconds.
If Ravi gives a start of 30 seconds then
Vinod beats Ravi by 40 m. What is the ratio
of speed of Ravi to that of Vinod?

,d 1000 ehVj dh jsl esa jfo] fouksn dks 40 ehVj
dk LVkVZ nsrk gS vkSj mls 19 lsdaM ls gjk nsrk gSA
;fn jfo] fouksn dks 30 lsdaM dk LVkVZ nsrk gS rks
fouksn] jfo dks 40 ehVj ls gjk nsrk gSA jfo vkSj
fouksn dh pkyksa dk vuqikr D;k gS\
(a) 4 : 5 (b) 6 : 5

(c) 3 : 8 (d) 5 : 4
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CIRCULAR TRACK

What kind of questions are asked on Circular

Track?

• After how many seconds they will meet for

the first time?

• After how many seconds they will meet for

the first time at starting point?

• At how many points on the track they will

meet?

• When will be their nth meeting?

• At what distance the nth meeting will take

place?

o`rh; iFk ij fdl rjg ds ç'u iwNs tkrs gSa\

• fdrus lsdaM ds ckn os igyh ckj feysaxs\

• 'kq#vkrh fcanq ij os fdrus lsdaM ds ckn feysaxs\

• os VªSd ij fdrus fcUnqvksa ij feysaxs\

• os n oha ckj dc feysaxs\

• os n oha ckj fdruh nwjh ij feysaxs\
Just imagine,

Two persons are running on circular track, when

they will meet for the first time?

nks O;fÙkQ xksykdkj VªSd ij nkSM+ jgs gSa] os igyh ckj dc
feysaxs\

For the first meeting the faster one has to travel

one round more than the slower one.

igyh ckj feyus ds fy, rst xfr ls nkSM+us okys dks /hes
xfr ls nkSM+us okys ls ,d pDdj vf/d yxkuk iM+rk gSA

Slow Fast

A B

X round (x + 1) round

Example :

A  5 m/s ; B  3 m/s;  Track length  240 m

If they start simultaneously from the same point

in the same direction.

(i) After how many seconds they will meet for

the first time?

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d lkFk
nkSM+uk 'kq: djrs gSaA

(i) fdrus lsdaM ds ckn os igyh ckj feysaxs\

Track length  
240 m 

A → 5 m/s 

B → 3 m/s 

  

A  5 m/s: B  3 m/s ; Track length  240 m

If they start simultaneously from the same point
in the same direction-

(ii) After how many seconds they will meet for
the first time at starting point?

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d lkFk
nkSM+uk 'kq: djrs gSaA

(ii) 'kq:vkrh fcUnq ij os fdrus lsdaM ds ckn feysaxs\

Track length  
240 m 

A → 5 m/s 

B → 3 m/s 

  

A  5 m/s ; B  3 m/s;  Track length  240 m

If they start simultaneously from the same point

in the same direction.

(iii) At how many points on the track they will

meet?

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d lkFk
nkSM+uk 'kq: djrs gSaA

(i) os VªSd ij fdrus fcUnqvksa ij feysaxs\

Track length  
240 m 

A → 5 m/s 

B → 3 m/s 

  
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1. A  8 m/s; B  5 m/s; Track length  600 m

If they start simultaneously from the same

point in the same direction.

(i) After how many seconds they will meet

for the first time?

(ii) After how many seconds they will meet

for the first time at starting point?

(iii) At how many points on the track they

will meet?

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d
lkFk nkSM+uk 'kq: djrs gSaA

(i) fdrus lsdaM ds ckn os igyh ckj feysaxs\

(ii) 'kq#vkrh fcanq ij os fdrus lsdaM ds ckn feysaxs\

(iii) os VªSd ij fdrus fcUnqvksa ij feysaxs\

Track length  
600 m 

A → 8 m/s 
B → 5 m/s 

  

2. A  5 m/s; B  2 m/s; Track length  420 m

If they start simultaneously from the same

point in the opposite direction.

(i) After how many seconds they will meet

for the first time?

(ii) After how many seconds they will meet

for the first time at starting point?

(iii) At how many points on the track they

will meet?

;fn os ,d lkFk] ,d gh fcUnq ls foijhr fn'kk dh
vksj lkFk nkSM+uk 'kq: djrs gSaA

(i) fdrus lsdaM ds ckn os igyh ckj feysaxs\

(ii) 'kq#vkrh fcanq ij os fdrus lsdaM ds ckn feysaxs\

(iii) os VªSd ij fdrus fcUnqvksa ij feysaxs\

Track length  
420 m 

A → 5 m/s 
B → 2 m/s 

  

3. A  9 m/s; B  4 m/s; Track length  4680

m

If they start simultaneously from the same
point in the same direction.

(i) After how many seconds they will meet

for the first time?

(ii) After how many seconds they will meet

for the first time at starting point?

(iii) At how many points on the track they
will meet?

;fn os ,d gh fn'kk esa] ,d gh fcUnq ls ,d lkFk
nkSM+uk 'kq: djrs gSaA

(i) fdrus lsdaM ds ckn os igyh ckj feysaxs\

(ii) 'kq#vkrh fcanq ij os fdrus lsdaM ds ckn feysaxs\
(iii) os VªSd ij fdrus fcUnqvksa ij feysaxs\

Track length  
4680 m 

A → 9 m/s 
B → 4 m/s 

  

4. A  5 m/s; B  3 m/s; Track length  1200 m

If they start simultaneously from the same
point in the opposite direction.

(i) After how many seconds they will meet

for the first time?

(ii) After how many seconds they will meet

for the first time at starting point?

(iii) At how many points on the track they
will meet?

;fn os ,d gh fn'kk esa] ,d gh fcUnq ls foijhr fn'kk
dh vksj lkFk nkSM+uk 'kq: djrs gSaA

(i) fdrus lsdaM ds ckn os igyh ckj feysaxs\

(ii) 'kq#vkrh fcanq ij os fdrus lsdaM ds ckn feysaxs\

(iii) os VªSd ij fdrus fcUnqvksa ij feysaxs\

Track length  
1200 m 

A → 5 m/s 
B → 3 m/s 

  
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5. A  5 m/s; B  3 m/s; Track length  1200 m

If they start simultaneously from the same
point in the same direction.

At what distance from the starting point
their 79th meeting will take place?

;fn os ,d gh fn'kk esa] ,d gh fcUnq ls ,d lkFk
nkSM+uk 'kq: djrs gSaA

'kq:vkrh fcUnq ls 79oha ckj fdruh nwjh ij feysaxs\

Track length  
1200 m 

A → 5 m/s B → 3 m/s 

  

6. A  50 m/s; B  30 m/s; Track length  1200 m

Find the no. of meetings of A and B in the

time interval in which B has covered 18
rounds.

ml le; varjky esa A vkSj B ds feyus dh la[;k
Kkr dhft, ftlesa B us 18 pDdj yxk, gSaA

Track length  
1200 m 

A → 50 m/s B → 30 m/s 

  

7. A and B run a 5 km race on a round course
of 400 metres. If their speeds are in the
ratio 5:4, the number of times, they meet:

A vkSj A 400 ehVj ds jkmaM dkslZ ij 5 fdeh dh
nkSM+ pykrs gSaA ;fn mudh xfr 5 % 4 ds vuqikr esa gS]
rks os fdruh ckj feyrs gSa%

Answers

1. (i) 200 sec 2. (i) 60 sec 3. (i) 936 sec

(ii) 600 (ii) 420 (ii) 4680

(iii) 3 points (iii) 7 points (iii) 5 points

4. (i) 150 sec 5. 600 m

(ii) 1200 6. 12

(iii) 8 points 7. 2

Answer Key (Race)

1.(a) 2.(b) 3.(a) 4.(b) 5.(a) 6.(b) 7.(a) 8.(b) 9.(c) 10.(b)

11.(c) 12.(a) 13.(a) 14.(c) 15.(b) 16.(c) 17.(c) 18.(a) 19.(c) 20.(b)

21.(d) 22.(a) 23.(a) 24.(d) 25.(a) 26.(b) 27.(b)
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